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Question Number : 1 Question Id : 70819114726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819149051.

70819149052, 2

70819149053.

70819149054, °

Question Number : 1 Question Id : 70819114726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4

_[|9 Plax dyer 8.
-4

Options :
12

70819149051.
122

70819149052, 3
125

70819149053. 2

70819149054, -

Question Number : 2 Question Id : 70819114727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is et The sum of the cubes of its terms is :

Options :
31
70819149055, -~
108

70819149056, 19

M| Ej

70819149057.

5
70819149058. 7



Question Number : 2 Question Id : 70819114727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w4 H’*—L{’L@ltﬂ? 5[@[[-1[ U YELAL HIUNL 3 A o YELHL qjl“Hl HHlnl 5 9. dl d YElAL UL HaeLl

K]
Options:
31
70819149055, 1~
108

70819149056, 12

M|E:‘;

70819149057.

e
70819149058. 7

Question Number : 3 Question Id : 70819114728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options:

70819149059, F =P V4

70819149060. (P9 =P

70819149061, P PV @) v (~9)



20819149062, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819114728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al ULl 58 opcly 2A(Gelsa (Ao 1et © 9
Options :

70819149059, F =P ¥4

70819149060. (P~ 9 =P

70819149061, P PV @) v (~9)

20819149062, P Y ~"P) A (q v (~q))

Question Number : 4 Question Id : 70819114729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let |a| <1, [bl<1, |c|<1 and x= i a',y= i b" z= i e i i li; é are in Arithmetic

n=( n=0 n={
Progression, then :
Options :

70819149063, & b and c are in Arithmetic Progression

70819149064, & b and c are in Geometric Progression

70819149065, & 2b and c are in Arithmetic Progression

a, b il T
70819149066. & b and ¢ satisfy 2b%=ac



Question Number : 4 Question Id : 70819114729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| 3.1

n ] e 4] n ]

4RL % [a <1, b|<1, |e[<1 2 x= ) a", y=Y b", z= ) " B. & s T iz el
i . i i Z
n=0 n=( n=0 ’

i, dl ;

Options :

70819149063, & P i ¢ W1k Aellui 9.

70819149064, & b i ¢ HHILUHR HellHL 9.

20819149065, & 2P i ¢ HHidz Aelu 9.

70819149066, & P 2t ¢, 2 2b2 =ac o HHEUA 52 O,

Question Number : 5 Question Id : 70819114730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2

\'}’ 2n“+7n+5
e
o

: nl is equ al to :

Options :

70819149067, 19¢+5
70819149068, 19€—5

70819149069, 16€~2



70819149070, 16e—7

Question Number : 5 Question Id : 70819114730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{; M2 +7n+5 _ "
=3 n!

Options :

70819149067, 19e+5

70819149068, 19¢—5

70819149069, 16€~°

]

70819149070. 16€-

Question Number : 6 Question Id : 70819114731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 10°0+ (3 (4)>2)+ \ is divisible by 9 is :
Options :

70819149071, 2

[F5)

70819149072.

=]

70819149073.

[==1

70819149074.



Question Number : 6 Question Id : 70819114731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1050+ (3% (4)%2) + A 21 9 &b [Acusd ot dell A Al Al Al t yels dvr 8,
Options :

70819149071, 2

(o8]

70819149072.

|

70819149073.

[==1

70819149074.

Question Number : 7 Question Id : 70819114732 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819149075, 455

70819149076. 421

70819149077. 435

70819149078, 41

Question Number : 7 Question Id : 70819114732 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL Mt 2t MHAd]d DAL YR 4, 5 2t 6 (iRl pidd 9. od U 5 el 9y (gl Al e ddl 519
0L o €l et [Geet 2041 U2 2l AL [G52AL UuTM G, dell 519 2081 G, dl o1z 29 [Ggail widl
Wik udi adaidl s B

Options :

70819149075, 435
70819149076, 421

70819149077, 435

70819149078, %1

Question Number : 8 Question Id : 70819114733 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. ax—b ) )
———— has an extremum at the point (2, —1), then the values of a and b are :
(x—1)(x—4)

Options:

Ify=

70819149079.

70819149080.

70819149081, a=0 b=-1

70819149082.

Question Number : 8 Question Id : 70819114733 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ax—b

= 06D 4 [0 (2, —1) 201 2Uedilds Yt G, dla s bAyel 8.
T Y = :

Options :

70819149079, @=1, b=0

70819149080, 2=0- b=1

70819149081, a=0, b=-1

70819149082, 2= ~ L b=1

Question Number : 9 Question Id : 70819114734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance between the planes ? {2.:'. I )! 21(' +5=0 and ? I,b";" [ ",; MrJ F2=01s:

Options:
o)
70819149083. 19
15

70819149084, 4

70819149085. Y

70819149086.



Question Number : 9 Question Id : 70819114734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wuddl 1 (27 » 2%)+5=0 u 7- |67 4 3 6k|+2=0 A v 8,

Options :

70819149083, 13
70819149084, 4

70819149085, ¢

70819149086.

Question Number : 10 Question Id : 70819114735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 .
The probabilit}-' of solving a pmhlmn in Mathematics b}-‘ two students X and Y are Z and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options:
7

70819149087, 20

70819149088.

70819149089. 2U



b

70819149090. 2V

Question Number : 10 Question Id : 70819114735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o [aenellll X 24 Y a1 At s e Goell st ool douart 243 7 ot 8. ol et of 20
WA Gheatrl et e Wee 53, o il oo s o g A Gl wsiadlaionsn
9.

Options :

70819149087. 20

70819149088.

70819149089.

12

70819149090, 20

Question Number : 11 Question Id : 70819114736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The polar form of the cnmplex number 1+1 is r_-qual to:
1—i

Options :

cos'—'r I z':ainE
9 9
70819149091. e =



—_ —_

Cos ——1sin—
2 2

70819149092. < <
cns'—T F i .'?»inE

70819149093,  * 4
cos L [ .'aini

70819149094 ' '

Question Number : 11 Question Id : 70819114736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M5y oy

LV Jglaregu B
155

Options:

—_

- - 1}
cos F1sin—
2

[

70819149091.

cos

ra =l

70819149092.

|
|

COS — +1i sin—
70819149093,  * 4

| =
|

cos
70819149094.

Question Number : 12 Question Id : 70819114737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819149095.

70819149096, °

e

70819149097.

==

70819149098.

Question Number : 12 Question Id : 70819114737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ad (G521 (1,0) 24 (3, 0) A sl Ylvise] 2: 1 Al el [ttt sl 2 de ded ¢l dell 2o
sl ar=7 di, dla 4 YA 2

Options :

I

70819149095.

70819149096, -

70819149097.

70819149098, 1

Question Number : 13 Question Id : 70819114738 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2x=0 with respect to
the line x+y=2, is :



Options :
70819149099, X t¥?—2x+4y+3=0

20819149100, *-H¥ —4x—2y+4=0

ST P R S
70819149101, 2@~ +y7) —x+y+1=0

S g B iy il
70819149102, ¥ ¥ 24y +3=0

Question Number : 13 Question Id : 70819114738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

q(jm r? ﬂfz -2 =0 A il x4 l"=2 4 Hl{m 2] wlilde 4131 |l qtjq]:i H’*‘ﬂ&?@t -
8.

Options :

70819149099, ¥ TY?—2x+4y+3=0

-

70819149100, ¥ F¥ —4x—2y+4=0

3] e ST I R TN
70819149101, 2" ty) —x+y+1=0

-2 + Iy P al
70819149102, ¥ YY" ~2x—4y+3=0

Question Number : 14 Question Id : 70819114739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%

(v-1)

Equations of the common tangent of the ellipse =1 and the circle

(x+1)2+(y—1)2=4 are :



Options :
70819149103, ¥+3=0 and x=1=0

70819149104, ¥ ~3=0 and y+1=0

70819149105, X¥+3=0 and x—1=0

y-+-3=[] and y--1=lf]
70819149106.

Question Number : 14 Question Id : 70819114739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(41 (-1’

Guaay 8 e g s 1 24 ada (x+1)2+ (y—1)2=4 Al di-y 2yalsiqu w¥lszel
9,
Options :
+3=0 24 x~1=0
70819149103, i

70819149104, ¥~ 3=0 21y +1=0

70819149105, *+3=01x-1=0

70819149106, 7+ 3=0 2 y—1=0

Question Number : 15 Question Id : 70819114740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

l a
If A= [“ J , then Ak (ke N) is :



Options :

70819149107.

70819149108.

Tk ka
0 k

708191491009.

[l ka}
0 0
70819149110.

Question Number : 15 Question Id : 70819114740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

%

Y &
ol ,-x=[” Jrﬁ,m, dl Ak (keN)

-'l ka
&

70819149107.
1 k‘a
i &

Tk ka
0 k

Options :

70819149108.

708191491009.



{l kﬂ
0 0
70819149110. * :

Question Number : 16 Question Id : 70819114741 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819149111, =2, t=13
70819149112, $#5

70819149113, 5=t #

70819149114.

Question Number : 16 Question Id : 70819114741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wAlszel el xy+ 3, +x3=5
xq+2x,+3x,=9
xy +3x, 81, =t
A ddils A tlyedl 9.

Options :

70819149111, S=2 t=13



70819149112, S# 5

70819149113, S=2> =13

70819149114, 1 13

Question Number : 17 Question Id : 70819114742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: - 1 2% . 1{ 2x
Derivative of tan ‘ with respect to sin - ‘ in (1, =), is:
k.] = k.1 f _1"',,
Options :
70819149115. 1

70819149116, ~ !

70819149117.

2

70819149118.

Question Number : 17 Question Id : 70819114742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S8R Yot 2 s G ;
tan l 7 | 4 sin ‘ 7| Auds (L ) Wl 8.
e ? | (1+22
Options :

70819149115. :



70819149116. ~ !

70819149117. 0

2
70819149118. ~

Question Number : 18 Question Id : 70819114743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, a><|.a><c_ tb=0, then

—_ -3

Let a, b and ¢ be three vectors such that M:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

70819149119.

4

70819149120.

T
q

70819149121.

5w
7]

70819149122.

Question Number : 18 Question Id : 70819114743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



d
C

i ?:1.&;%;}:;’ b =0 dud,

add 7 b o o ekl 3, e o= b
a 2l o o2l agsiel 9.

Options :

>4

70819149119.

4

70819149120.
w
70819149121, 3

s

12
70819149122.

Question Number : 19 Question Id : 70819114744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

at -1 —til‘l_lj.,r
70819149123, Y~ 1 tan ‘ytce

- 1 tan 'x
70819149124, Y~ @M Y- 1t ce

_ -1 —t:u‘l_lj.,r
70819149125, Y- tan y-ltce

. ; 1 tan 'y
70819149126, ¥~ tan y-l-ce



Question Number : 19 Question Id : 70819114744 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Asa wdlszel (1 +yDdx=(tan Wy—x)dy <L B3 .
(1+y9) ( y—x)dy

(sl ¢ 63 205 ©)
Options :

. -1 —t.:m"lj.,r
70819149123, Y~ 1 tan ytce

P, 1 3 tan " Lx
70819149124, Y=tan "y 1t ce

. -1 —til‘l_lgl.r
70819149125, Y- tan y-ltce

70819149126, @0 Y

Question Number : 20 Question Id : 70819114745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

y ) ; — .z:l .z.:_ ' .
The values of 1, for which the vectors a = (x> ~16) t4 j— (x"—25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :
70819149127, L2 —4 w4 5]

70819149128, =2 4) v (=4, 5]

70819149129, (75 ~4) v (4 9)

70819149130, ("> 4w (=49)



Question Number : 20 Question Id : 70819114745 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

kel @ =(@2-16)i+4 - (r2-25)k 3 wrualdl (a4 Ba) 04 agsiel daid ddl x Al Gudl

i g 9.
Options:

70819149127, 172 —4l v 4. 5]

70819149128, [ 724w (=4, 3]

70819149129, (75 ~4) v (4, 9)

70819149130, (274 (749)

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191531
2

Online
Mandatory
10

5

20

Yes

1
708191811

Yes



Question Number : 21 Question Id : 70819114746 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114746 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dr =
2

] [TroosZ
L
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819114747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

OtanZ0+4cot?0 o HAdH YA 9,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114748 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114748 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

; . P s Ed s gk -
[ (1,2, 3) &l 2au Vil i dodl dend 9.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114749 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: ) ol
If log, 2, log, (2*—5) and log;: ; Ly L | are in Arithmetic Progression, then the value of x is
3 3 B3| 2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114749 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

|t Aelli dl, dlxdyen 8.

% ﬁ i
o log, 2, log, (2% ~5) i log; | 2*
. _ 3| !

[ N B |

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819114750 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 2y

If x2+x+1=0, then Jffx i|2 | | 2
X7

|\

Response Type : Numeric

=
£ ¥ ]
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819114750 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

12 N T

sl 24+ x+1=0 ¢, dl Jllfx |]x2

X/
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 26 Question Id : 70819114751 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y2=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819114751 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

aqe 12+ 2 — 4y -2y~ 11=0 « (645 (4, 5) il £l wualsy, Blecuiledl sds 8 215 Agrsiel o
9. AL APslel gn el vl 8,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114752 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to ____

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819114752 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ol 215 [5UE] [EzeiAdl Heus 2 (G0l ¥l 15 24 dddl @ldl @Rl 117 €, dl [[aig
Wil 3oy 9,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819114753 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b|, |c|)=1,
then |a+b+c+d|isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819114753 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

iRl 5 (ol (1, 2, 6), (2,5, 7)4idl 4R udi 24 4ddd do-y+2=15 4 del @4 ddl ¥ddd
dllswelax+by+cz+d=0 8. at a, b, ¢, d=Z 2 9. U2, ((a], b), |c)=1 €14, dl Ja+b+c+d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114754 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v 7w
The number of real solutions in the interval [ ' -‘ of the equation 4sin’x — 8sinx +3=0

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114754 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. . . L . e g
wils2el dsinZy — 8sinx +3=0 i, [ , -‘M‘LQLHHL qidlas Gididl v ®.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114755 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1110

Let A;, Ay Ag o be an increasing geometric progression. If T4 As 63 and
AzA =441, then 3(A,+A,) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114755 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10

= AlAA =16, d

g e v ETR—
QRIS A, Ay A, ... 2125 sl jRUR A0 8. ot -+ =10
A Y g X

1 S By
3(A,+A)=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Aptitude Test
Section Id : 708191532
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191812
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the "UNESCO" ?
Options:

70819149141. United Nations Educational, Scientific & Cultural Organization.
70819149142 United Nations Educational Security Cultural Drgani:zation.

70819149143, United Nations Entrance Site Calling Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819149144.



Question Number : 31 Question Id : 70819114756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UNESCO’ « el 2a3y Ald-ntidl 54 © 7
Options:

70819149141. United Nations Educational, Scientific & Cultural Organization.
70819149142. United Nations Educational Security Cultural Drgani:zation.

70819149143, United Nations Entrance Site Calling Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819149144.

Question Number : 32 Question Id : 70819114757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819149145, D-{), (ID-(@), [D-(d), (IV)-(c)

20819149146, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819149147, 1-(a), (1)-(b), ([I)-(c), AV)-(d)



70819149148, P} (1)-@). {[1)-(c), (IV)(d)

Question Number : 32 Question Id : 70819114757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ST | ST D NN
gl - 1 Gzl - 11

(I)  ¢ld 240s A (a)

(I sil&e dler, Ul-eadl (b)

(TI) Ul 2R (c)
(IV) #selz24e (Secretariat) (d)

Options:



70819149145, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819149146, (D©), (ID-(d), (ID-(), (IV)-(b)

70819149147, D-@), (ID-(b), (I)-(c), IV)-(d)

20819149148, ) (D-@). )-(c), (V)-(d)

Question Number : 33 Question Id : 70819114758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819149149, Wb}, (ID-(c), (HD-(d), (IV)-(a)

70819149150, D-(b), (ID-(d), (I)-(c), (TV)-(a)

20819149151, D), ()-(a), (D)-(b), (IV)-(d)

20819149152, D(P) (I)-@), (IH~(d), (IV)-(c)

Question Number : 33 Question Id : 70819114758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TS | TS ETDENE

STEA S | A1El-11
(I)  s@3 (Kamnu) (a) [Fseilean wikud ¢ia
(I (el (b) el il
() geiyz (sl (c) [ssl wlevs (Khirki Masjid)
(IV) $ldsiel (d) ©jds E2alled

Options :
70819149149, Wb) (I)-(), (ID-(d), (IV)-(a)

70819149150, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

20819149151, D-(©), ()-(@), (1)-(b), (IV)-(d)

70819149152, (D-(b), (I)-(a), (LD)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819149153, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

20819149154, D-@), (ID-(b), (IID)-(c), (IV)-(d)

70819149155, 1) (D-(a), (ID-(d), (IV)-(b)

70819149156, V) (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST | T S TP
sl - 1 A1E] - 11

(M 2 Beal (a)
(D) 2iel Heers (b)
() Adel [[ealhens (c)
(V) sror e (d)
Options :

70819149153, (D-(b), (ID-(¢), (ID-(@), (IV)-(d)

20819149154, D-@), (ID-(b), (IID)-(c), (IV)-(d)



70819149155, M9 ()-(@). (1ID-(d), (IV)-(b)

20819149156, 0 P) (ID)-@), (ID-c), (IV)-(d)

Question Number : 35 Question Id : 70819114760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819149157. (D=(c), (IT)-(d), (IID)-(b), (IV)-(a)

70819149158, (D-(¢), (I)-(d), (ID)-(a), (TV)-(b)

20819149159, D-(d), (I)-(b), (ITD)-(c), (IV)-(a)

70819149160, (D-(P), (I)-(d), ()-(a), (TV)-(c)

Question Number : 35 Question Id : 70819114760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
AEL - 1A “1El - Ta0El olisdl,

wel - 1 gl - 11

(I) Yadvindra Garden (a) Manali
(I)  Vishnu Temple (b) Amritsar
(IIT) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar



Options :
20819149157, (D). (I-(@), (ID-(b), (IV)-(a)

70819149158, (D-(©), (I-(d), (1M)-(a), (IV)-(b)

70819149159, (D-(d), (ID-(b), AIDc), IV)-(a)

70819149160, (D-(P), (I)-(d), ([D)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 1.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819149161. (D-(a), (II)-(d), ID-(b), IV)-(c)

20819149162, (D-(d), (ID)-(c), (ID)-(a), (IV)-(b)

20819149163, (D), (I)-(c), (ID)-(b), (IV)-(a)

70819149164. (D-(a), (I0}-(b), (II)-(d), (IV)-(c)

Question Number : 36 Question Id : 70819114761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

qigl - 11 sl - 1 208 2lsdl.

4zl - 1 qizl - 11
(I) Mehrangarh Fort (a) Hyderabad
(IT)  Siri Fort (b) Kolkata
(ITT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Al [Aseuinial 2l seanet ue 53l

Options :
20819149161, (D-(@), (-(d), (ID)-(b), (IV)-(c)

70819149162, (D), (I)-(c), (D)-(a), (IV)-(b)

70819149163. (D-(d), (ID-(c), D)-(b), IV)-(a)

20819149164, 0@, (D-(b), (D-(d), IV)-(c)

Question Number : 37 Question Id : 70819114762 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819149165, B-V- Doshi

70819149166. Arundhati Roy

70819149167, Revati Kamat

70819149168, Dimal Patel



Question Number : 37 Question Id : 70819114762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al il 52 suadld AR5z Yads ‘God of small things' €44 © 7
Options :

70819149165, “hAl BRL

20819149166, “34cl 214 (Arundhati Roy)

70819149167, Hdl 514d

70819149168, oHd Wt

Question Number : 38 Question Id : 70819114763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Tharokha’ is a type of window mostly found in :

Options :

70819149169, Cwarat

70819149170, VVest Bengal
Tamil Nadu

70819149171.

70819149172, Rajasthan

Question Number : 38 Question Id : 70819114763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
‘AR 2L AL 215 W51 B o Yuredd Al 41 el WAL S )
Options :

70819149169, A%l

70819149170, P “oud

y £
70819149171, WA

70819149172, ‘oAl

Question Number : 39 Question Id : 70819114764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction ?
Options:

70819149173. North-West side

70819149174. South-East side

70819149175, North side

70819149176, Scuth-West side

Question Number : 39 Question Id : 70819114764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MRelH Guvisul APR] el 59 (Fuisdl uee © 7



Options :
ARy ellsyHl
70819149173. '

2[5 ousyell
70819149174. :

32 sy
70819149175, O &l

70819149176, "t cllsfAl

Question Number : 40 Question Id : 70819114765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
70819149177, Bharat Bhavan in Bhopal

70819149178. LIC Building in Delhi

70819149179. Charminar in Hyderabad

70819149180. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819114765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
lar sl oidd 54 514 4uléedl-2auct-eud (Colonial Architectural pattern) L 2s( 5% ©.

Options :



70819149177, M- MRd ¢t

20819149178, [Eedld LIC w51+

70819149179 gEleEAl %12 (AR

20819149180, S4sild [Aseizlan Huilzag

Question Number : 41 Question Id : 70819114766 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :

70819149181. 420 x 590 (mm X mm)

70819149182, 20>¢594 (mmx mm)

70819149183, 297 ¥ 420 (mm x mm)

70819149184, 120592 (mm > mm)

Question Number : 41 Question Id : 70819114766 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2 [#121-dlscd (Drawing sheet) < 5% 54 ¢4 & 7

Options :

70819149181. 420 x 590 (mm X mm)



70819149182, 120394 (mm X mm)

70819149183, 297 %420 (mm x mm)

70819149184, 4207592 (mmx mm)

Question Number : 42 Question Id : 70819114767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819149185, Chittor fort

20819149186, Jaigarh fort

70819149187 Bhangarh fort

70819149188, “mer fort

Question Number : 42 Question Id : 70819114767 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[Csv 2ot ~Al2iAmisl $40 2eml 208d 9 7
Options :
Fieis 212

70819149185.

70819149186, e Bedl



70819149187, “PPLe [seal

70819149188, “\*R 7l

Question Number : 43 Question Id : 70819114768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819149189, Samay Puri

70819149190, Vikram Lall

70819149191, Ashok Lall

70819149192, & Sompura

Question Number : 43 Question Id : 70819114768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ol W[5 Cgrar” AlaAmiddl s argsi fad 54 9 )
Options :

70819149189, 7™ 42l

70819149190, |4 A

70819149191, 225 dld



70819149192, il L

Question Number : 44 Question Id : 70819114769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819149193. Charles Correa

70819149194, Richard Mier

70819149195 Jasbir Sachdev

70819149196. Ranjit Sabliki

Question Number : 44 Question Id : 70819114769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Volume Zero' £2clld®) 54l ARSI R & 7

Options :

70819149193, AL sl
70819149194, 115 42 (Richard Mier)

70819149195, /Uil e

70819149196, *519 yetdlsl (Ranjit Sabliki)



Question Number : 45 Question Id : 70819114770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate cha_nge
70819149197.

70819149198. Global warming,

70819149199, >ustainable development

70819149200, Smart city

Question Number : 45 Question Id : 70819114770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
"Bled sl 217 2 A AoiEld diven 8 7
Options:

70819149197, EAHI “EdA

70819149198. s dadl drHiesl el

70819149199, HEl (A5

S -Li'-ﬁ
70819149200, *lle R

Question Number : 46 Question Id : 70819114771 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options:

70819149201. Karnataka

70819149202, ©rissa

70819149203. Maharashtra

70819149204 Uttar Pradesh

Question Number : 46 Question Id : 70819114771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
M1z ctrl s4L s HL Al viel 2uddl © 7

Options :

(L

70819149201, 38U

70819149202, “ille

70819149203, "Rl

70819149204, Gtz

Question Number : 47 Question Id : 70819114772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819149205, North

70819149206, >0uth

70819149207, Cast

70819149208, WVest

Question Number : 47 Question Id : 70819114772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
slaeL slendnl usszlea usieL 58 Bausisdl 2ud 7
Options :

70819149205, &t

70819149206, &8

70819149207, =

70819149208, “lau

Question Number : 48 Question Id : 70819114773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first Indian Architect who has won Pritzker Prize in 2018 is :

Options :



i _
70819149209, B+V: Doshi

70819149210, Laurie Baker

70819149211, Rai Rewal

70819149212, ‘chyut Kanvinde

Question Number : 48 Question Id : 70819114773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2018 i Bleasz Yeas1a HOs-1z 4 cudly dligsi 5180 ¢dl )
Options :

70819149209, -l el

70819149210, Azl “is2

70819149211, L& 24

wyd s3dlet
70819149212, 4t sl

Question Number : 49 Question Id : 70819114774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options:

70819149213, Bengalurm



70819149214. Banaras

70819149215, Bengal

70819149216, Bari

Question Number : 49 Question Id : 70819114774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Bungalow” 210€ il 51l Guzall Ggorll 8 7
Options :

70819149213, Bengalurm

70819149214, banaras

70819149215, Bengal

70819149216, Bari

Question Number : 50 Question Id : 70819114775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?
Options:

70819149217. Laurie Baker

70819149218, Louis Kahn

70819149219, -utyen



70819149220, Le Corbusier

Question Number : 50 Question Id : 70819114775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M -2agLatEAl [attde dlEamisdl s st a6 7
Options :

70819149217, 4L 4152

r 55-_.5 4
70819149218, o St

70819149219, ©3¢L4

70819149220, Al sl

Question Number : 51 Question Id : 70819114776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :

70819149221, 14

70819149222, 13



70819149223, 12

70819149224, 18

Question Number : 51 Question Id : 70819114776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AU 25 [AHL Sedl ARU 29 D )

Options :

[}

70819149221, 14

3

=i

70819149222,

(=1

70819149223, 12

—

70819149224, 18

Question Number : 52 Question Id : 70819114777 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawmg is providc-d with all the folds to construct the foHowing three Dimensional ohjc-ct.
Select the correct one.



Options :

70819149225.
|
|
70819149226.
-
_I .-
| | |
70819149227.
| u
70819149228. ]

Question Number : 52 Question Id : 70819114777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



oredted 2uglcrizll 21 medl 2u5( 2l svedl otell ad2iiA il 20t B-ufaell sl Huel s
US4,

Options :
I e
1 |
70819149225.
I
I
70819149226.
-
_I .-
| |-
70819149227.
| ||
70819149228. B

Question Number : 53 Question Id : 70819114778 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—NE O
[

Options :

70819149229.
70819149230.
70819149231.

70819149232.




Question Number : 53 Question Id : 70819114778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 2A15(d 2ls gl Gyl e i 8. dlaedl B el wnd w9 £ed svsot sugldaiiai] sl sl

4 DE 0
Options :

A
70819149229.

A |
70819149230.

\
70819149231.

70819149232.




Question Number : 54 Question Id : 70819114779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options :
70819149233.

L
70819149234.

[ 1
70819149235.
70819149236.

Question Number : 54 Question Id : 70819114779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A Al i a1 Guil £ et 9. dlidl B el v w0 G 224 sreiet Aisliiixigl

A4l 530

|

Options :
70819149233.

L
70819149234.

[ 1
70819149235.
70819149236.

Question Number : 55 Question Id : 70819114780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

i

T

Options :

70819149237.

70819149238.

70819149239.

70819149240.

Question Number : 55 Question Id : 70819114780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3 Al s sige Guil e acid B, dliedl Bauni sl wng 202 Getet £ sreiie 2uusleiiliall 45|

5L

T

T

Options :

70819149237.

70819149238.

70819149239.

70819149240.

Question Number : 56 Question Id : 70819114781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819149241. >
70819149242. D
70819149243, v
70819149244, ﬁ

Question Number : 56 Question Id : 70819114781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

srelied 2uglc2Amisl 205 2115(d 2er 58 21 (B 202 ws 205l ueidl 8. Wl srdie AL

Options :
70819149241. E

70819149242,



70819149243. ;
70819149244, ﬁ

Question Number : 57 Question Id : 70819114782 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819149245.

70819149247.

W
70819149246. Q
0
N

70819149248.



Question Number : 57 Question Id : 70819114782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sreltet 2l 21 2l e 55 214 o e s 2uglal wuieldl 8. sl sedio il

Options :

70819149245.

70819149247.

™
70819149246. Q
0
N

70819149248.

Question Number : 58 Question Id : 70819114783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :



70819149249.

70819149251.

N
rrsrso. C

A

>

70819149252.

Question Number : 58 Question Id : 70819114783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

srelier 2Ag(cilimidl 2is 2ugld 2er 5€ 2 Bau 2 ua 2uglanl gyl ©. sl s WAL
x

Options :

70819149249.

70819149251.

N
rrsrso. C

A

>

70819149252.



Question Number : 59 Question Id : 70819114784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819149253. D
70819149254. D
70819149255. O
70819149256. f

Question Number : 59 Question Id : 70819114784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sreliel 2u(ciliaidAl 215 2u5ld 2lsr 58 21 [Bau 28 s 2uglaul udl 8. Wl sreiied el

Options :

70819149253. D



70819149254. D

70819149255. O

70819149256. #

Question Number : 60 Question Id : 70819114785 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
O
[
X
Options :
]
70819149257.

70819149258.



]
[l
]
708191492509,
[
[]
70819149260,

Question Number : 60 Question Id : 70819114785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WA 2l X-X A et e 2wl seset 2uglazisidl 451 s3l.

X

[]




Options :

70819149257.

70819149258.

70819149259.

70819149260.

Question Number : 61 Question Id : 70819114786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problom t’iguro with
respect to X-X ?

N\
A

o N/
(D)
@J

AON
NZ;

70819149264.



Question Number : 61 Question Id : 70819114786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M2 2Uglad X-X A s e 20 - 1l sestier 2uglazimigl 451 s3l.

N\
AN

N1/
(D)
téJ

0N
N2

70819149264.



Question Number : 62 Question Id : 70819114787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819149265. /
N
NV
N\
70819149266. /
N
P
N/
70819149267. /[\

70819149268.



N4
AN

Question Number : 62 Question Id : 70819114787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M2 2Uglad X-X A s e 20-wqler seser 2uglazimigl 451 s3l.

/ X
V /NN
/
[ X
Options :
N
L N\Y
N\
70819149265. /
N
NV
N\
70819149266. /

70819149267.



/N

70819149268.

Question Number : 63 Question Id : 70819114788 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

708191492609.

70819149270.

70819149271.



70819149272.

Question Number : 63 Question Id : 70819114788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
avellot 2s(a2iiidAlL 58 205(d W 2usldazidl Aol yel 51 9 7 215 we wis s

Al

Options :

70819149269.
70819149270.
70819149271.

70819149272.



Question Number : 64 Question Id : 70819114789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819149273.

70819149274.

70819149275.

70819149276.



Question Number : 64 Question Id : 70819114789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(- uBuiel 2usld 215 st 21 Adid ©. dladl Gl sdl wod 1@ 234 seaiol 2usldaimiul 151
i {4 . : . z

531,

7

Options :

70819149273.

70819149274.

70819149275.

70819149276.



Question Number : 65 Question Id : 70819114790 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819149277.

70819149278.

70819149279.



70819149280.

Question Number : 65 Question Id : 70819114790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- wRaell 2uslc 2is wsiddd 24 qc1d 9. dladl Eami et 4o w9 £ seo 208{delixisl 4]

53l

=

/7

Options :

70819149277.

70819149278.



70819149279.

70819149280.

Question Number : 66 Question Id : 70819114791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819149281.

70819149282.

70819149283.

70819149284.



Question Number : 66 Question Id : 70819114791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B-ufauell ugld 24 st e acd ©, dladl B sidl wag w9 ey sraio sigldinizl 45|

53l

Options :

70819149281.

70819149282.

70819149283.



70819149284.

Question Number : 67 Question Id : 70819114792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819149285.

70819149286.

70819149287.

70819149288.



Question Number : 67 Question Id : 70819114792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B-wlenell 2ugla 2is et evd acid 8. dladl Gt stdl wag 29 w24 vt 2ugldtiail sl

51l

/ﬂ

Options :

70819149285.

70819149286.

70819149287.

70819149288.



Question Number : 68 Question Id : 70819114793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819149289.

70819149290.

70819149291.

70819149292.

Question Number : 68 Question Id : 70819114793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

B-wBaell 2usld 2is st e o 9. dladl Gt sdl wad 1 224 srie 2ugldelixig 151

5.

/

Options :

708191492809.

70819149290.

70819149291.

70819149292.

Question Number : 69 Question Id : 70819114794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819149293.

70819149294,

70819149295.

70819149296.

Question Number : 69 Question Id : 70819114794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[E-wBaiell 2usld 215 ugidd s ddid 9. dlz-dl Gl sidi 40d 22 24 sreion 2usldiinil 4sl
) (4 X : . z

5L

7

Options :

70819149293.

70819149294,

70819149295.

70819149296.

Question Number : 70 Question Id : 70819114795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819149297. '

70819149298.

70819149299.

70819149300.

Question Number : 70 Question Id : 70819114795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



B-uleall 2usld 25 it eed ol 8. dliedl Gl sl wag w9 e24 ereion 20gldelixidl x|

5.

/7

Options :

70819149297. '

70819149298.

70819149299.

70819149300.

Question Number : 71 Question Id : 70819114796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819149301. —I

70819149302. l

70819149303.

70819149304.

Question Number : 71 Question Id : 70819114796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(-l 2usld 215 ugEd 234 edid 9. dlaedl BAe sddl 4ad 2@ 232 sedied sl 461
: [ A : X 2

5L

i

Options :

70819149301. —I

70819149302. |

70819149303.

70819149304.

Question Number : 72 Question Id : 70819114797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819149305.

L]
70819149306.
70819149307. I:l

L]

70819149308.

Question Number : 72 Question Id : 70819114797 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B-ufasll 2050 2is it se e ©. dladl Bl stdl wog 2@ £ sraio 20g{ciixisl 51

531,

4

7

Options :

70819149305.
70819149306.
70819149307.

70819149308.



Question Number : 73 Question Id : 70819114798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
708191493009. | |

|
70819149310. | I
70819149311. | l

||
70819149312. l

Question Number : 73 Question Id : 70819114798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

E-uRuell 2us(d 21 uadd s2 odid 8. dladl Eml eddl 40d 9@ e srdiel 2uslciimial 41
r z \ : \ [

531,

Options :

|
708191493009. l l

|
70819149310. | |
70819149311. | I

||
70819149312. |

Question Number : 74 Question Id : 70819114799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819149313.

70819149314.

70819149315.

70819149316.

Question Number : 74 Question Id : 70819114799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Bl-ulell 2ugld 215 vl eet etdl ©. dladl Fausi el wog 419 £e1 sveot 2u5{ciiial 4l

51l.

/I

Options :

70819149313.

70819149314.

70819149315.

70819149316.

Question Number : 75 Question Id : 70819114800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819149317.

70819149318.

70819149319.

70819149320.

Question Number : 75 Question Id : 70819114800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Bi-ulanell 2ugli 2is unidd s odid 9. dladl Bausi sddi wad a4 Gl s svetio 2ugldiiuisll
44l 5L,

Options :

70819149317.

70819149318.

70819149319.

70819149320.

Question Number : 76 Question Id : 70819114801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819149321.

70819149322.

70819149323.

70819149324,

Question Number : 76 Question Id : 70819114801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Biulaell 2ugla 215 g 2o v 9. svetor- 2u5azioniel uief Guil ewy 44l sl

Options:

70819149321.



70819149322,

70819149323.

70819149324.

Question Number : 77 Question Id : 70819114802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819149325.

70819149326.



=

70819149327.

=

70819149328.

Question Number : 77 Question Id : 70819114802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[E-uBell 2usla 2is vsiEd 294 edid 8. secttet-2uslazimidl wiel Gyl =3y 44l 53,
[ : ) \

Options:
70819149325.
70819149326.

70819149327.



=

70819149328.

Question Number : 78 Question Id : 70819114803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}-' the buﬂding compositions of having less visual tension amongst the fo[lowing figurcs.

(A) (B)
(©) (D)
Options :

70819149329, () and (B)

(B) and (C)
70819149330.

70819149331, (©) and (D)

70819149332, (D) and (A)

Question Number : 78 Question Id : 70819114803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



191 £94 ABU (visual tension) €14 ddl %514 Hdlert (building compositions) svellet 2Ais(dil
44l 53,

(A) ()

y
(©) (D)
Options :

70819149329, () and (B)

(B) and (C)
70819149330.

70819149331, (©) and (D)

70819149332, () and (4)

Question Number : 79 Question Id : 70819114804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v v— Ut
¥y —ol
Options :

[T
70819149333.




70819149334.

70819149335.

70819149336.

Question Number : 79 Question Id : 70819114804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 25l 2l e Guil et ol 8. el Bauni sl wng WY Gt 294 sretied 2glaiixigl

r
5

A4l sal,

Options :

70819149333.

70819149334.

70819149335.

70819149336.



Question Number : 80 Question Id : 70819114805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819149337.

70819149338.

2 2 4

708191493309.



70819149340.

Question Number : 80 Question Id : 70819114805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w215t 24 wgede Gudl eey e 9. el Bausl sl wag 49 G 294 sveiied 2015 (ciluiel
A4l 53l

A
P
V

i\

Options :

70819149337.

70819149338.

708191493309.



70819149340.

Planning
SectionId: 708191533
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191813
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819114806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819149341, Automobile

70819149342, Clothing and Textile

70819149343. Printing

70819149344, Iron and Steel

Question Number : 81 Question Id : 70819114806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
MU [ 4ea ydal donnl 2umidl s Gapld w4 ¢d 7
Options :
70819149341, AlleUsd

70819149342, 4L 2L 5148 Geliol

70819149343, “MslM

70819149344, Alis 244 2 ld

Question Number : 82 Question Id : 70819114807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A carbon footprint is the amount of ____ released into the atmosphere.
Options :

70819149345, [Vitrogen



20819149346, Greenhouse gas

70819149347, ©zone

70819149348, Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819114807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

stolr gellredl AlciseMl B DR EVETORS)
Options :

r>
70819149345, "oglei

70819149346, At €16 A

70819149347, 2l

" {.I a = ..-3:'5 :l S = )
70819149348, A 58 gt (2RUALs wRLlaL o)

Question Number : 83 Question Id : 70819114808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panch gani

Mg 0w

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options:



70819149349, E2D—=B—-A—=C

70819149350, L7 B—=C—=D—A

70819149351, € A —-B—-D—E

70819149352, 4 7 D= C—=B—E

Question Number : 83 Question Id : 70819114808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, sL985AA

B. 3

C. WG 2uy
D. el

E.  uddal

SR Guadl ¢ vienAl 2o sEe Ul Gz azs wuzll Aeli sl
A3 200 [Eseqidl 2=l seauet e sl

Options:
70819149349, E7D—=B—- A= C

70819149350, L7 B—=C—=D—A

70819149351, ¢ >A—=B—-D—E

70819149352, * 7D~ C—B—E

Question Number : 84 Question Id : 70819114809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Planning Commission in India has been replaced by :
Options :
70819149353, Mo HUA

70819149354, [IIT Aayog

70819149355, NIUA

70819149356, LTI

Question Number : 84 Question Id : 70819114809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MRt BAUHL disvAl 2P AlAAL gzl gl szl 2dd 9 d
Options:

70819149353, Mo HUA

70819149354, "l 2L

70819149355, NIUA

70819149356, FFL

Question Number : 85 Question Id : 70819114810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone’s Act enacted in India ?

Options :



70819149357, 2005

70819149358, 2007

70819149359, 2009

70819149360, 2011

Question Number : 85 Question Id : 70819114810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ml [Bald 20l Al s1MEL SR ARy sl edl )
Options:

70819149357, 2005

70819149358, 2007

70819149359, 2009

70819149360, 2011

Question Number : 86 Question Id : 70819114811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options:
70819149361 National Horticulture Association of India.

70819149362. National Heritage Authority of India.



70819149363. National Hydroelectric Power Authority of India.

70819149364, National Highway Authority of India.

Question Number : 86 Question Id : 70819114811 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NHAT o dyel 2430 9 0 7 |l sradion s $31.
Options:

- Iy . " i i rr
70819149361, R4 elelseuz viaiagn 208 gl-aal

20819149362, -t &lier iielRdl »iis dl-zul

A2iAd el dadls war 2k 208 diu
70819149363. S 5 9

= :‘ 5‘:;"'"-\. s W :l "-,LL KF\- ._-5'
20819149364, "R ELEd iR »lis 921

Question Number : 87 Question Id : 70819114812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options :

70819149365, 19
70819149366, 10

70819149367, 17



70819149368, 18

Question Number : 87 Question Id : 70819114812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y1828 AUNL 511 el 2516 (A5 gl 2AAEAH UL S ]
Options :

70819149365, 19

70819149366. 10

70819149367, 17

70819149368, 18

Question Number : 88 Question Id : 70819114813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which year, the first industrial policy by Government of India was announced ?
Options:

70819149369, 1947

70819149370, 1948

70819149371, 1950

70819149372, 1949



Question Number : 88 Question Id : 70819114813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
sl il o1zt qest-Al ua 2B Al sdduid szami 20l ¢dl 7
Options :
70819149369, 1947

70819149370, 1948

70819149371, 1950

70819149372, 1949

Question Number : 89 Question Id : 70819114814 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options :

70819149373, Superblocks

70819149374, radial pattern

70819149375, high rise development

70819149376 waterbased TIHI'ISPDI‘T.

Question Number : 89 Question Id : 70819114814 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

AL el At el di e melld 9

Options :

70819149373, ¢ “Als

" J" ] r
70819149374, oM@

sl ol [@ . . :
70819149375, @18 usx [asim (High rise development)

20819149376, el 2uaulza ukeg

Question Number : 90 Question Id : 70819114815 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819149377, Durgapur

s e . D ;
20819149378. 1ur15h|akh.apatnmn

70819149379, Bhubaneshwar

70819149380, Bhilai

Question Number : 90 Question Id : 70819114815 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al L izl 54 205 2Abls uer 2l ?



Options :

70819149377, EWE

70819149378, (ARUMAINEA™

70819149379, TR

T
70819149380, L“eE

Question Number : 91 Question Id : 70819114816 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :

70819149381, AMRUT

70819149382, Make in India

70819149383, HRIDAY

70819149384, © DAY

Question Number : 91 Question Id : 70819114816 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MRl 150l Al 59 Alsvaui/ siesy ¢Rsr A WA oAl ®
Options :

70819149381, AMRUT



70819149382. Make in India

70819149383, HRIDAY

70819149384, © DAY

Question Number : 92 Question Id : 70819114817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :
70819149385, Tamil Nadu

70819149386. Karnataka

70819149387. Andhra Pradesh

70819149388, Kerala

Question Number : 92 Question Id : 70819114817 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{2kt 2AHiE] 541 215 SEBIRAAL 2sA del 56 o s i Al 98 oo s gyl

(2stel) 2 9 7

Options :

70819149385, MHA-g



70819149386, *SHes

70819149387, UEEL

70819149388, 54

Question Number : 93 Question Id : 70819114818 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819149389, 1886
70819149390, 1876
70819149391, 1866

70819149392, 1896

Question Number : 93 Question Id : 70819114818 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

oAl ¥ (Survey) Al 2auL szl 20l edl
Options :

70819149389, 1886
70819149390, 1876

70819149391, 1866



70819149392, 1896

Question Number : 94 Question Id : 70819114819 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73'd amendment act (734 CAA) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819149393, Lok Sabha

70819149394, State Legislative Assemhl}-'

70819149395, Cabinets

70819149396, | anchayati Raj bodies

Question Number : 94 Question Id : 70819114819 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1992 AL 731 gyl A Yored, (A il 51 wisui 1Rl w2 25 glauiu (1/3) 20esel
AN 2 o o 2l

Options:

70819149393, AlsUML

70819149304, Ao B0

70819149395, 2Lt



20819149396, Al 21sr 2zl

Question Number : 95 Question Id : 70819114820 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

=~ 210

- 205
= 200

Street O

200

- 205

% 210
"I" _,-“ 2]5

St Water body Market Contour N
Vegetation M Police Station Temple
E Railway Stn [I:I:I:I:DII] Hospital RG] School

With reference to the diagram, choose the correct statement.

Options :

S[npe of land on which school is located is flatter than the slope of land on which

20819149397 fospital is located.

Slope of land on which police station is located is steeper than the slope of land on
70819149398, which school is located.

70819149399.



Slope of land on which school is located is steeper than the slope of land on which
tomp[e is located.

Slope of land on which school is located is the same as the slope of land on which
70819149400. temple is located.

Question Number : 95 Question Id : 70819114820 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map reading

Street C

.. 200

i 208

% 210
7 1 218

L a] Water body Market Contour N
gm Vegetation % Police Station Temple
E Railway Stn I]II:IIIII] Hospital T School

SUHAL HEGH, e [daud e s

Options :

! = . gt 1 :l ;‘-\. i T | :l - . = ™ :l = i 1 >
20819149397, sl 2100 5 el uR SlEucd B © del s2al el 1 5 sl 43 30 2uddl 9 d 14l 9.



sl 2l 5 sl 4R AL (A ) el sl sviflell el S sl wz WAy 2 28d 8. d 9y
70819149398, A UL D.

srletedl el 5 fetl w2 (5 (R 8 del stal srlleedl el s /el YR 210 2AHd B d 9 dloud

70819149399, WU .

e il 2l % sl U2 HEY (B3UA O 21 srldel 4l S e/l v 2uo 2uddl © d 1A 9.
70819149400.

Question Number : 96 Question Id : 70819114821 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

“SireetE
Street B

Street O

. 200

« 205

P I
[y —

2] Water body Market Camtcmr N
?!m Vegetation % Police Station Temple
E Railway Stn I]IIIDII] Hospital " H 'y| School

[n the given diagram, for a person to travel from railway station to temple, one will have to
move in direction.




Options :

70819149401, North

70819149402, North - East

70819149403, South - West

70819149404, Last

Question Number : 96 Question Id : 70819114821 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map reading

-LI-I
g m
g g
iR g
i i < 210
aeves I I 205
same [l 200
Street O
1 200
b

ol s 205

ot L 210
LS5

-] Water body Market Contour N
Vegetation w Police Station Temple
E Railway Stn ”:I:I:IIII” Hospital ey School

WU SHIARML s calad e 2 4l E 4R s U de

[ vamids s .



Options :
Gz
70819149401.

S —uel
70819149402. G kS

2 BB
70819149403. -

70819149404, =

Question Number : 97 Question Id : 70819114822 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map Reading.

: Street B

--------
e

Street C

.. 200

', 3

*F ; il Water body Market Contour N
5% Vegetation % Police Station Temple
E Railway Stn I]IIIIII:I] Hospital e School

In the given diagram, water body is located at a level :

Options :

70819149405, 5 m higher than police station.

70819149406. 5 m higher than school.

70819149407, Same level as police station.

70819149408, Same level as school.

Question Number : 97 Question Id : 70819114822 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map reading

 Street B

s ==

E Street O

- 200
.”‘r‘
- 205
% 210
" 215

; Water body Market Contour N

g% Vegetation w Police Station <] | Temple
5500800 School

E Railway Stn [I:I:I:I:III:I] Hospital

AU S, sv eAlS] (water body) 245 i W R 9 d

Options:

20819149405, W@ 2 52l 5 m Gy

20819149406, WU 8¢t 5 m Gy

70819149407 WUAH 22214 s72ell s/ 2 W2

70819149408, WL s/EL e/ 22 W

Question Number : 98 Question Id : 70819114823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options :
70819149409, 41
70819149410, 1:9

70819149411, 6:1

70819149412, 1:4

Question Number : 98 Question Id : 70819114823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el el axa12y wiasl dEe, 12 2ls wd-ud (ud 2uem) A [alid Gaud wielHs
W sledsr [Aeri diaelld [de sukd 9.

Gy Mt Bl glesy (1m0

Gtz WEa(ds Al sider sl 2o 2l LIG 40124 Aelliq el doail opeliaz 2l
Options :

70819149409, 41

70819149410, 1:9

70819149411, 6:1

70819149412, 1:4

Question Number : 99 Question Id : 70819114824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?2. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :

20819149413 The density of population in urban area is 1000 persons/sq.km.

70819149414. The density of population in urban area is 849 persons/sq.km.

20819149415, The density of population in urban area is 4290 persons/sq.km.



70819149416, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819114824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

yeedldf &5 510 [l km? 9. 5e sasnl sl st o Beair 9. 54 o Gzl 20 s add
ol . (A%l aaell 7.8 (Gildan 8 2 Gt 25124 21del dadl ©. A5l Wzl sraie UL

Options :

ﬁ?:‘ =y [ a1z P M -,
20819149413, a1l [Bactizal gaedlel o{ludl 1000 w4 a2t/ sqkm. .

20819149414, WL Eraial sl oz 849 <4lsaii/sq.km. 8.

70819149415, 21¢dl [Frcil azdl-l sl 4290 eufsa@ii/sq.km. ©.

20819149416. 20l [Eactisi axl-l ol 7800 c4lsail/sq.km. &,

Question Number : 100 Question Id : 70819114825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819149417. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819149418, A Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819149419 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819149420. increase.

Question Number : 100 Question Id : 70819114825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1981 =l 2011 4l 213 A, B 244 C Al svzivyy -

C
201 B |
A

2001 B

1991 B [

C
1981 B |
A

] l ] l ]
1 1 1 1 1
5,000 10,000 15,000 20,000 25,000

0

121 srellol UHE 530
Options :

2 A 311981 41 2011 &% BRSO R L W S0 O
20819149417, 3182 A 211981 4l 2011 53341 3l 9zl uBld 53 © 214 22 C ddl o Id uelkld sadi L.

¢ B » -2011 &£ ] a2tol WEBld 53 8 sAid ez A wellq & &
20819149418, & B 2l 1981-2011 53341 93cllMl ¥dd 4216l Ml 53 © stz 2d2 A qauzl el 5 9.

22 A i a2l 1981 Ul 2001 5341 35 L5 Azl MERld 52 6 sAR 22 B 1981 Yl 1991
70819149419, Ee+Hrt 4eisl 24wl 1991 4l 2001 £2241 Azl B9 ©.

e ik i Atk i i 2 S
20819149420 2182 C [Al9a sl drdldl ddd “eLsl s 218t B aaurl Melld 52 9.

Question Number : 101 Question Id : 70819114826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

) 1
70819149421, 26 kmhr

70819149422, 21.5 kmhr ™!

70819149423, 30 kmhr~!

1
70819149424, 282 kmhr

Question Number : 101 Question Id : 70819114826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



25 241 100 Aterirdl ol stett woll ecll. A2 5125 Al 21l (Bl 21 ded 24434 dlgellA o1
AEKS

g1 e (kmhr ™) gl 2val
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

dl Al 233121 91[a 30

Options :

) 1
70819149421, 26 kmhr

70819149422, 21.5 kmhr ™

70819149423, 30 kmhr™!

1
70819149424, 28 kmhr

Question Number : 102 Question Id : 70819114827 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider

the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?



Options :

70819149425, Asa d‘ua_rit}-' hw, privﬂeged penple.

70819149426. As a way to reduce crime.

As a wav to sensiltize travellers about poor living conditions in the society.
70819149427, ) p & )

70819149428, As an adventure activity.

Question Number : 102 Question Id : 70819114827 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the ollowmg best jusfif}-' ‘Slum Tourism’ in the above paragraph ?

Options :

70819149425, Asa d'na_rit}-' ‘m, privﬂeged people.

70819149426. As a way to reduce crime.

As a wav lo sensilize travellers about poor living conditions in the society.
70819149427. 3 P & 3

70819149428, As an adventure activity.

Question Number : 103 Question Id : 70819114828 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819149429, Learning

70819149430, “taring

70819149431, Feeping

7081914943, Gloating

Question Number : 103 Question Id : 70819114828 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819149429, Learning



70819149430, “tAring

70819149431, eeping

70819149432, Gloating

Question Number : 104 Question Id : 70819114829 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decrea@ing.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :

Options:
70819149433, Both A and R are true and R is the correct explanation of A
70819149434, Both A and R are true but R is NOT the correct explanation of A

70819149435, A is true but R is false

A is false but R is true
70819149436.

Question Number : 104 Question Id : 70819114829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A2 o [Ba Al A S 25 A sae A A 2 elade S0 R 98 doid 539 9.
sad A el o sl ds L sl el B Y.
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Options :
70819149433, 12 A 2L R RS A R 2 A Al il 2uydl 9.

20819149434, 12 A 2 R 2 O 2 R 3L A Al aall asugyedl -2ll.

70819149435, A WO MARMGS.

70819149436, A "1 © HAR HH ©.

Question Number : 105 Question Id : 70819114830 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children,

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819149437. Both A and R are true and R is the correct explanation of A
70819149438, Both A and R are true but R is NOT the correct explanatinn of A

70819149439, A istrue but R is false

70819149440. A is false but R is true



Question Number : 105 Question Id : 70819114830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al2L o [l 2AMAL D 25 A 54 A 9 2 oflsded 51281 R 98 dold 539 9.
sud A L WISEL G SIS MIRAHL 219 Sl B 4L D,

szl R 0 ulRelld sudldl gadl v di euast g2l 12,

Guani [Fai-l dsoii, 12 2udal Hseqnizl Hiel 49 casiudl sediel YbE s2L.
Options :

20819149437, 1% A 2 R A O 2 R 2 A {l 203l 2yl 8.

20819149438, & A 2 R 4Rl © 24 R 2L A Al 2l 2oyl 2L,
70819149439, A HH © HELR Mg ©.

Al S ELR ME 9.

70819149440.

Drawing
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Section Number : 5
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Number of Questions : 2
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Section Marks : 100
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 708191814



Question Shuffling Allowed : No

Question Number : 106 Question Id : 70819114831 Question Type : SUBJECTIVE

Correct Marks : 50
Draw a proportionate sketch of given reference image by using any black and white rendering
techniques of your own choice.
OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 106 Question Id : 70819114831 Question Type : SUBJECTIVE

Correct Marks : 50



214 #iEe] (ot aqled, werad il ol d e dudl duesidl Hd /24 22l (rendering)
el Gy 3L
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Question Number : 107 Question Id : 70819114832 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOID B :SIZE 5 em %2 cmX 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819114832 Question Type : SUBJECTIVE

Correct Marks : 50
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